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QUESTION 1

Solution logic is classified as "service-oriented" after:

A. it has been built using Web services

B. it has been built using RPC technologies

C. it has been performance tested to a meaningful extent

D. service-orientation has been applied to a meaningful extent

Correct Answer: D

QUESTION 2

Which of the following statements is false?

A. Service-orientation is a design paradigm that must be applied on an enterprise-wide basis in order to be successful.
B. Service-orientation is a design paradigm comprised of a set of design principles.

C. Service-orientation is an evolutionary design paradigm that has been influenced by older, established IT paradigms
and platforms.

D. Service-orientation is applied to logic in order to create service-oriented logic.

Correct Answer: A

QUESTION 3

Services can be referred to as because of the enterprise-centric design considerations of service-orientation and SOA.
A. enterprise architectures

B. enterprise resources

C. enterprise definitions

D. enterprise-centric business models

Correct Answer: B

QUESTION 4
The ability of one service to another service forms the basis of service .

A. divert, diversification

S90.01 VCE Dumps | S90.01 Study Guide | S90.01 Braindumps 2/3


https://www.pass4itsure.com/s90-01.html
https://www.pass4itsure.com/s90-01.html
https://www.pass4itsure.com/s90-01.html

. VCE & PDF https://www.pass4itsure.com/s90-01.html
E 2024 Latest passditsure S90.01 PDF and VCE dumps Download

PassditSure.com

B. register, registries
C. consume, composition
D. integrate, integration

Correct Answer: C

QUESTION 5

The goals of service-oriented computing are focused on tactical (short-term) benefits, as opposed to strategic (long-
term) benefits. Select the correct answer.

A. True
B. False

Correct Answer: B
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